13000 GeV pp tt

g _| I T | T | T T T T . I . : : | : a
O : :
'g B y” (ATLAS dileptonic ttbar) B
g_ i p—
>
10" _
b - —
% : ! "il!..i&==. :
b | =E=s=_=!$=$=.$=. -
I tgi?a.a
- N‘ts.i&
1074 = g N
— S =
— e -
i .\\Q\;\\t«}\ —
i ‘\\‘\’\ _|
B ATLAS N
10—5 - O Pythia 6.428 390 \x\\\\ _
—  --&-- Pythia 6.428 391 s, E
~ --+%-- Pythia 6.428 392 % E
— ---+-- Pythia 6.428 396 b N
B -¥-- Pythia 6.428 397 |
107 — --¥-- Pythia 6.428 398 |
_| | | | | | | ; | | | | | | I_
:l I I I ' [ T 1 T 1 | '1_' I ]
2 E Lok —
< g AT T -
i : ‘——:’:‘:’;;ff—f/:'—:z— i :
8 1 é:;;;;: _______ ﬁ: e
9 p—
'.C-U' i p—
m ] p—
05 — |
| . 1 . 1 . 1 . 1 . | . 1 . 1 . L ) | . | . | . |

0 1 2
Dilepton [y"™"|times m"™

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


